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SECTION-A 

प्रश्न सॊख्यण 1 से 25 तक में चणर विकल्प दिए गए हैं जजनमें से एक सही है। सही 
विकल्पों को चनुें एिॊ उत्तर-पत्र में चचजननत करें : 

 

1. आिश्यक िस्तुओॊ की मणॉग की मलू्य ऱोचकतण होती है  

(a) शनू्य  

(b) असीममत 

(c) इकणई से अचिक  

(d) इकणई से कम  

 

2. "ऱणभ जोखिम सहन करने कण पणररतोविक है।" इसे ननम्न में से ककसने कहण है?  

(a) हॉऱ े

(b) जे० बी० क्ऱणकक  

(c) नणईट 

(d) इनमें से कोई नहीॊ 

bsebresult.in



 

3. बणजणर जस्िनत जजसमें िस्तु कण केिऱ एक के्रतण होतण है, उसे कहते हैं 

(a) एकणचिकणर  

(b) मोनोप्सनी   

(e) द्ियणचिकणर  

(d) इनमें से कोई नहीॊ  

 

4. सणमणन्य मलू्य कण ननिणकरर् ननम्न में से ककसके वििय में ककयण जणतण है ? 

(a) बणजणर दििस 

(b) अल्पकणऱीन बणजणर  

(c) िीघककणऱीन बणजणर 

(d) इनमें से कोई नहीॊ 

 

5. ननम्नमऱखित में कौन उत्पवत्त कण सणिन नहीॊ है 

(a) भमूम 

(b) श्रम 

(c) मदु्रण 

(d) पूॉजी 

 

6. भणरत कण केन्द्रीय बैंक कौन है? 

(a) भणरतीय स्टेट बैंक  

(b) सेन्रऱ बैंक ऑफ इजडडयण 

(c) ररजिक बैंक ऑफ इजडडयण 

(d) इनमें से कोई नहीॊ 
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7. भणरतीय ररजिक बैंक की स्िणपनण हुई 

(a) 1932 में 

(b) 1935 में 

(c) 1949 में  

(d) 1956 में 

 

8. केन्द्रीय बैंक सणि ननयॊत्रर् करती है  

(a) बैंक िर के जररये 

(b) िुऱे बणजणर प्रकक्रयण के जररये 

(c) सी आर आर के जररये  

(d) इनमें से सभी 

 

9. ककस ििक में 14 व्यणपणररक बैंकों को रणष्ट्रीयकृत ककयण गयण ? 

(a) 1960  

(b) 1968  

(c) 1969 

(d) 1980 

 

10. भणरतीय स्टेट बैंक की स्िणपनण ककस ििक की गयी ? 

(a) 1950 

(b) 1955 

(c) 1960 

(d) 1965 
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11. प्रणिममकतण ऺेत्र में सजम्ममऱत हैं 

(a) कृवि 

(b) िुिरण व्यणपणर  

(c) ऱघ ुउद्योग  

(d) इनमें से सभी 

 

12. रणष्ट्रीय आय के मणप की विचियों में सजम्ममऱत है  

(a) आय विचि 

(b) व्यय विचि 

(c) मलू्य-जोड़ विचि 

(d) इनमें से सभी 

 

13. मदु्रण के कणयों में सजम्ममऱत है  

(a) मलू्य ननिणकरर् करनण 

(b) मलू्य सॊचचत करनण 

(c) विननमय कण मणध्यम प्रस्तुत करनण  

(d) इनमें से सभी  

 

14. पूॉजी बणजणर में कणरोबणर होतण है 

(a) अल्पकणऱीन कोिों कण  

(b) िीघककणऱीन कोिों कण 

(c) अल्पकणऱीन एिॊ िीघककणऱीन िोनों कोिों कण  

(d) इनमें से कोई नहीॊ 
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15. स्कन्ि विननमय में कणरोबणर होतण है 

(a) समतण अॊश कण 

(b) पिूणकचिकणर अॊश कण 

(c) ऋर्पत्र कण 

(d) इनमें से सभी 

 

16. विश्ि व्यणपणर सॊगठन जस्ित है  

(a) िणमशॊगटन में  

(b) न्ययूणकक  में  

(c) जेनेिण में  

(d) इनमें से कोई नहीॊ 

 

17. उत्पणिन फऱन को व्यक्त ककयण जणतण है। 

(a) Qx = Px   

(b) Qx = f (A, B, C, D) 

(c) Qx = Dx  

(d) इनमें से कोई नहीॊ 

 

18. ननम्नमऱखित में से कौन स्िणयी ऱणगत नहीॊ है ? 

(a) बीमण प्रीममयम  

(b) विऻणपन व्यय  

(c) रहनतयण ऱणगत  

(d) ब्यणज  
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19. गुर्णॊक को ननम्न में से ककस रूप में प्रस्तुत ककयण जणतण है ? 

(a) K =
∆S
∆L 
  

(b) 𝐾 =
∆𝑌

∆L
  

(c) 𝐾 =  1− 𝑆  

(d) इनमें से कोई नहीॊ  

 

20. केन्स के मसद्िणन्त कण सॊबॊि है 

(a) प्रभणिपरू्क मणॉग प्रिवृत्त से  

(b) उपभोग प्रिवृत्त से  

(c) बचत प्रिवृत्त से 

(d) इनमें से सभी 

 

21. वित्तीय बणजणर व्यिस्िण करते हैं  

(a) अल्पकणऱीन ऋर् 

(b) िीघककणऱीन ऋर् 

(c) (a) तिण (b) िोनों 

(d) इनमें से कोई नहीॊ 

 

22. ननम्नमऱखित में मदु्रण बणजणर के अॊग हैं 

(a) व्यणपणररक बैंक  

(b) व्यणपणररक पत्र  

(c) सहकणरी बैंक  

(d) इनमें से सभी   
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23. ननम्न में ककसे अिकशणस्त्र कण वपतण कहण जणतण है ? 

(a) एडम जस्मि  

(b) मणशकऱ 

(c) रॉबबन्स 

(d) इनमें से कोई नहीॊ  

 

24. सीमणन्त उपयोचगतण की गर्नण ककस प्रकणर की जणती है ? 

(a) ∆TU

∆Q 
 

(b) ∆MU

∆Q 
 

(c) ∆Q

∆TU
 

(d) ∆Q

∆MU
 

 

25. बजट में हो सकतण है 

(a) आगम घणटे  

(b) वित्तीय घणटे  

(c) प्रणरॊमभक घणटे  

(d) इनमें से सभी 

 

II. ननम्नमऱखित प्रश्न सॊख्यण 26 से 30 तक के प्रत्येक प्रश्न में िो किन (किन । एिॊ 
किन ॥) दिए गये हैं। इन किनों के आिणर पर प्रत्येक प्रश्न के मऱए दिये गए विकल्पों 
(a), (b), (c) और (d) में से सही विकल्प को चनुें: 

 

(a) िोनों किन सही हैं  

(b) िोनों किन गऱत हैं 
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(c) किन I सही है, परन्तु किन II असत्य है 

(d) किन I असत्य है, परन्तु किन II सही है। 

 

26. किन-I : परू्क प्रनतयोचगतण कणल्पननक है।  

किन-II : बणजणर जस्िनत के अध्ययन में परू्क प्रनतयोचगतणकण महत्त्ि है। 

 

27. किन-I : अच्छे गुर्िणऱे िस्तुओॊ में आय प्रभणि शनू्य होतण है। 

किन-II : ननम्न गुर्िणऱे िस्तुओॊ में आय प्रभणि नकणरणत्मक होतण है।  

 

28. किन-I : अप्रत्यऺ करों द्िणरण आयत वितरर् में असमणनतण कण बढणिण िेतण है। 

किनॊ-II : अप्रत्यऺ करों कण अचिक भणर गरीबों पर पड़तण है। 

 

29. किन-I : क्रमणगत ह्रणस उत्पणि ननयम िीघककणऱ में ऱणगू होतण है।  

किन-II : एक फमक द्िणरण श्रम की मणॉग व्यतु्पन्न मणॉग होती है। 

 

30. किन-I : सणमणजजक कल्यणर् कणयक कणल्पननक होते हैं। 

किन-II : प्रनतजष्ट्ठत मसद्िणन्त में मदु्रण की पनूतक में िदृ्चि होने से बचत में िदृ्चि होती 
है।  

 

III. प्रश्न सॊख्यण 31 से 34 में िो कॉऱम (कॉऱम । एिॊ कॉऱम II) दिए गए हैं। िोनों 
कॉऱमों के ममऱणन कर सही विकल्प चनुनए : 

कॉऱम-I      कॉऱम-II 

31. भणरतीय स्टेट बैंक की स्िणपनण   (a) मणॉग कण ननयम 

32. नणबणडक       (b) कृवि वित्त व्यिस्िण 
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33. मणशकऱ      (c) वित्तीय घणटण 

34. केन्द्रीय बजट     (d) 1955 

 

IV. नीच ेदिए गए अनचु्छेि को ध्यणन से पढें तिण समझ ेऔर उसी के आिणर पर दिए 
गए प्रश्न सॊख्यण 35 के प्रश्नों के उत्तर विकल्प से चनुकर िें : 

 

35. अनचु्छेि : आचिकक एकत्रीकरर् कण अिक रणष्ट्र के विभेिीकरर् की िणखर्जययक नीनत 
है। इसके द्िणरण केिऱ सजम्ममऱत िेशों के व्यणपणर प्रनतबन्िों को कम ककयण जण सकतण 
है। आचिकक एकत्रीकरर् िेशों में पिूणकचिकणर व्यणपणर अनबुॊिों से िुऱण व्यणपणर, कस्टम्स, 
बणजणर एिॊ आचिकक सॊगठनों पर ननभकर करतण है। सिस्य िेशों में पिूणकचिकणर व्यणपणर के 
कणरर् अन्य िेशों की अपेऺण प्रनतबन्ि कण िर कम होतण है। 

 

I. आचिकक एकत्रीकरर् कण अिक है  

(a) िणखर्यय नीनत में विभेिीकरर्  

(b) व्यणपणर अनबुन्ि 

(c) सणमणन्य बणजणर 

(d) इनमें से कोई नहीॊ 

 

II. आचिकक एकत्रीकरर् में पररितकन प्रभणवित होतण है 

(a). कस्टम्स द्िणरण 

(b) रणष्ट्रों के सॊगठन द्िणरण  

(c) सणमणन्य बणजणर द्िणरण 

(d) इनमें से सभी 
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III. एक आचिकक सॊगठन सबसे विकमसत आचिकक एकीकरर् है, क्योंकक  

(a) यह वित्तीय नीनत में एकरूपतण ऱणतण है 

(b) यह मौदद्रक नीनत में एकरूपतण ऱणतण है 

(c) इसके द्िणरण पूॉजी कण स्ितॊत्र प्रयोग होतण है। 

(d) इनमें से सभी 

SECTION-B 

प्रश्न सॊख्यण 1 से 10 ऱघ ुउत्तरीय है तिण प्रत्येक के मऱए 3 अॊक ननिणकररत है। 

 

1. रणष्ट्रीय आय क्यण है ?  

2. केन्द्रीय बैंक के कणयों कण िर्कन कीजजए। 

3. मणॉग के ननयम की वििेचनण कीजजए।  

4. समजष्ट्ट अिकशणस्त्र क्यण है ? 

5. मलू्य उपयोचगतण की वििेचनण कीजजए।  

6. उत्पणिन के सणिनों को अॊककत कीजजए।  

7. मदु्रण के कणयों की वििेचनण कीजजए। 

8. अिशिे भगुतणन क्यण है ? 

9. शदु्ि रणष्ट्रीय उत्पणि क्यण है ?  

10. सरकणरी बजट के महत्त्ि की वििेचनण कीजजए।  

 

प्रश्न सॊख्यण 11 से 15 तक िीघक उत्तरीय प्रश्न है तिण प्रत्येक के मऱए 6 अॊक ननिणकररत 
है।  

 

11. परू्क प्रनतयोचगतण की विशिेतणओॊ की वििेचनण कीजजए। 

12. एकणचिकणर में मलू्य ननिणकरर् ककस प्रकणर होतण है ?  
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13. आचिकक पद्िनत के विमभन्न प्रकणरों की वििेचनण कीजजए।  

14. रणष्ट्रीय आय की मणप की विमभन्न विचियों की वििेचनण कीजजए। 

15. विननमय िर के ननिणकरर् विचियों की वििेचनण कीजजए। 

 

 

******** 
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BUSINESS ECONOMICS  
Time: 3 Hours 15 Minutes]             [Full Marks: 100 

SECTIONA 

I.  For question nos. 1 to 25, there are four alternatives of which only one is correct. 

Choose the correct alternative and mark it in the answer sheet: 

 

1. What is the price flexibility of a necessities of demanded things? 

(a) Zero 

(b) Infinite 

(c) More than a unit  

(d) Less than unit 

 

2. Profit is the award of bearance risk' who said this? 

(a) Halley 

(b) J. B. Clark 

(c) Night 

(d) None of these 

 

3. The market situation in which there is only are consumer is called 

(a) Monopoly 

(b) Monopsani 

(c) Duopoly 

(d) None of these 
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4. On which matter it is decided of general value 

(a) market day 

(b) short term market 

(c) long term market 

(d) None of these 

 

5. Following is not a source of origin  

(a) Land  

(b) Labour 

(c) Money 

(d) Capital 

 

6. Who the Central Bank of India? 

(a) SBI 

(b) Central Bank of India 

(c) Reserve Bank of India 

(d) None of these 

 

7. When was establish Reserve Bank of India?  

(a) In 1932 

(b) In 1935 

(c) In 1945 

(d) In 1956 

 

8. In which year the nationalisation of the commercial bank ? 

(a) 1960  

(b) 1968 

(c) 1969 

(d) 1980 
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9. Central Bank can control by which 

(a) Bank Rate  

(b) Open market  

(c) CRR  

(d) All these 

 

10. When was establish State Bank of India? 

(a) 1950 

(b) 1955 

(c) 1960 

(d) 1965 

 

11. It is included in primary sector 

(a) Agriculture 

(b) Retail trade 

(c) Small business 

(d) All these  

 

12. Methods of measurement of National Income is included in 

(a) Income method 

(b) Expenditure method 

(c) Price added method 

(d) All these 

 

13. It is included in functions of money 

(a) Price determination 

(b) Price saving 

(c) Presentation of medium of exchange  

(d) All these 
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14. The business in capital market  

(a) short term funds 

(b) long term funds 

(c) Both of short and long term funds 

(d) None of these  

 

15. The business in stock exchange is 

(a) Equity share 

(b) Preference shares 

(c) Debentures 

(d) All of these 

 

16. Where is World Trade Organisation?  

(a) Washington  

(b) Newyork 

(c) Jeneva 

(d) None of these 

 

17. It is expressed of production function 

(a) Qx = Px 

(b) Qx = F(A, B, C, D) 

(c) Qx = Dx 

(d) None of these 

 

18. Which is not a fined cost? 

(a) Insurance premium  

(b) Advertisement expenses 

(c) Stock cost 

(d) Interest  
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19. Multiplier can be expressed as 

(a) K= 
∆𝑆

∆𝐿
 

(b) K= 
∆𝑌

∆𝐿
 

(c) K = I – S 

(d) None of these 

 

20. The principle of Ken's is related to  

(a) Effective demand nature  

(b) Consume nature 

(c) Saving nature 

(d) All of these 

 

21. Arrangements of financial marketing 

(a) short term loan  

(b) long term loan 

(c) Both (a) and (b) 

(d) None of these 

 

22. The organ/parts of money market 

(a) Commercial Bank 

(b) Commercial Card  

(c) Co-operative Bank 

(d) All of these 

 

23. Who is called "The father of economics"?  

(a) Adam Smith  

(b) Marshall 

(c) Robinsons 

(d) None of these 
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24. Calculation of marginal cost on that 

(a) 
∆𝑇𝑈

∆Q
 

(b) 
∆𝑀𝑈

∆Q
 

(c) 
∆𝑄

∆TU
 

(d) 
∆𝑄

∆MU
 

 

25. It can be in budget 

(a) Revenue losses 

(b) Financial losses  

(c) Preliminary losses 

(d) All of these 

 

II. In questions nos. 26 to 30, there are two statements (statements I and statement 

II) against each question. Choose the correct option for each question for each 

question out of options (a), (b), (c) and (d) on the basis of given statements: 

26. Consider the following statements:  

Statement-I: Perfect competition is hypothetical. 

Statement-II: Perfect competition has importance to study market situation.  

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

27. Consider the following statements : 

Statement-I: Income effect is zero in case of superior goods.  

Statement-II: Income effect is negative in case of inferior goods. 
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(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true.  

 

28. Consider the following statements: 

Statement- I: Indirect taxes promote inequalities in the distribution of income. 

Statement-II: The poor bear more burden of indirect taxes.  

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false. 
 

(d) Statement I is false, but statement II is true.
 

 

29. Consider the following statements: 

Statement- I: The law of diminishing return holos good in the long period.  

Statement-II: The demand for labour by firm is derived demand. 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true.  

 

30. Consider the following statements: 

Statement-I: Social welfare function is hypothetical.  
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Statement-II: In classical theory, an increase in money supply leads to increase in 

savings. 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

III. In question nos. 31 to 34, there are two columns (column I and column II). Match the 

correct option between the two columns:   

Column-I      Column-II
 

31. Establishment of SBI   (a) Law of demand 
 

32. NABARD     (b) Agricultural financing
 

33. Marshall     (c) Fiscal deficit
 

34. Union Budget    (d) 1955
 

 

IV. In question no. 35, there is a paragraph. You have to read and understand the 

paragraph and then mark your answer from the given options:  

35. Paragraph: The theory of economic integration refers to the commercial policy of 

discrimination of states. It reduces trade business only among nations jointly together. 

The degree of economic integration ranges from preferential trade agreement to free 

trade, customs, markets and economic unions. Preferential trade provides barrier lowe 

barriers on trade among participating nations than on trade with non-member nation. 

 

I. Economic integration means 

(a) Discriminating commerical policy 

(b) Trade agreements  

(c) Common market 

(d) None of these 
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II. Changes in economic aggregation are affected 

(a) by customs 

(b) by the organization of nations 

(c) By general market 

(d) All of these 

 

III. An economic organization is the most developed economic aggregation, because  

(a) It brings uniformity in financial policy 

(b) This brings uniformity in monetary policy 

(c) It is used free of capital by 

(d) All of these 

SECTION - B 

Question Nos. 1 to 10 are short answer type and each carries 3 marks:  

1. What is national income? 

2. Define the functions of Central Bank. 

3. Explain law of demand. 

4. What do you mean by macro economics? 

5. Consider the price utility. 

6. Write the sources of production. 

7. Write the function of money.  

8. What is Remains Payments? 

9. What do you mean by NNP? 

10. Explain the importance of Government budget. 
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Question Nos. 11 to 15 are long answer type and each carries 6 marks:  

11. Discuss the characteristics of perfect competition. 

12.How does price determination in monopoly? 

13. Explain different types of economic policy. 

14. Explain different process of measurement of national income.  

15. Define different method of exchange rate 

 

 

******* 
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